CSCI 201 Fall 02: Exam 1 Solution

Name:_________________________

Note: This is an open book exam

Problem 1:

Answer the following questions concerning the program given below.

1.  public class StringTator

2.  {

3.     public static void main (String[] args)

4.     {

5.        String myString = new String("Tator eators");

6.        String mutation;

7.        mutation = myString.concat(" unite");

8.        System.out.println ("length: " + mutation.length());

9.     }

10.    public void tatorToo()

11.    {

12.       System.out.println ("I'm a tator eator too");

13.    }

14. }

1. What does the word “static” mean on line 3?

ANS: It means that the method main() can be called from the class name (i.e. you do not have to create a StringTator object in order to call main()).

2. How many methods does the class StringTator have and what are their names?

ANS: Two methods named main() and tatorToo()
3. Explain exactly what is happening on line 5.

ANS: A new String object storing the character sequence "Tator eators" is created.  The String reference variable myString stores the address of that object (i.e., myString refers to that object).

4. On line 7, what method is being called and what object does it belong to?  Does that method receive inputs?  Does that method return a value, and, if so, what is it?

ANS:  The concat() method is being called.  It belongs to the object myString.  The concat() method receives the String literal “ unite” as input, and it returns (the address of) a new String object containing the character sequence “Tator eators unite”.

5. What is printed to the monitor when the StringTator program is run?

ANS: 
length: 18
Problem 2:

What will be printed to the monitor by the following program when the user enters 2.0?

import cs1.Keyboard;

public class TestQuestion {

   public static void main (String[] args) {

      System.out.print ("Enter a real number: ");

      double tom = Keyboard.readDouble();

      if (tom + 1 / 2 == 1.5)

         System.out.println ("Good choice");

      else

         System.out.println ("Bad choice");

      if((int)tom % 2 == 100 % 10) 

         System.out.println (tom + " is divisible");

      else

         System.out.println (“Why did you choose ” + tom + “?”);

      if(4 / 5 != 0 == true)

         System.out.println ("Your special number is " + tom);

      System.out.println ("Bye");

   }

}

EXAMPLE ANS: 
Enter a real number: 2.0




Bad Choice




2.0 is divisible




Bye

Problem 3: 

Write a program that prompts the user to enter an integer number, and then writes the absolute value of that number to the monitor.  Sample output from your program should look as follows (values entered by the user are shown in italic):

enter an integer number:

-4

the absolute value of –4 is 4

enter an integer number:

2

the absolute value of 2 is 2

EXAMPLE ANS 1:

import cs1.Keyboard;

public class TestQuestion {

   public static void main (String[] args) {

      System.out.println("Enter an integer number: ");

      int tom = Keyboard.readInt();

      int abs;

      if (tom < 0)


  abs = -1 * tom;

      else


  abs = tom;

      System.out.print("the absolute value of ");

      System.out.println(tom + " is " + abs);

   }

}

EXAMPLE ANS 2:

import cs1.Keyboard;

public class TestQuestion {

   public static void main (String[] args) {

      System.out.println("Enter an integer number: ");

      int tom = Keyboard.readInt();

      System.out.print("the absolute value of ");

      System.out.println(tom + " is " + Math.abs(tom));

   }

}

